& Audi Sport €11D,

customer racing

AUDI RS 3 LMS SEQ.
Tightening Torque Manual



TIGHTENING TORQUE
INDEX BRs 3 omMms

Notes 3

Engine Fly Wheel And Clutch 4

Engine & Gearbox Supports 5

Turbocharger 6

Alternator 7

Fuel System 8

Intermediate Axle 10
Drive Shaft 11
Gear Shift Actuator 12
Front Upright And Hub 13
Front Brake 14
Front Subframe 15
Front Wishbone 16
Front Shock Absorber 17
Steering Rack & Column 18
Rear Upright 19
Rear Shock Absorber 20
Rear Subframe 21
Pedal Box 22
Front & Rear End 23
Backet Seat 24
Ballast Fixation 25

Sadev Gearbox

General View & Info 26
Supports 27
Casings 29
Engine Mounting 30
Barrel Position Sensor 31
2 Audi RS 3 LMS SEQ. . m
¥ Audi Sport

customer racing



TIGHTENING TORQUE
NOTES BRs 3 omMms

In this manual you will find the tightening torques of the vehicle with exploded views. Attached to the different parts
there is a reference with some information. There is an exemple here below to understand how to read it:

TO BODY SHELL
VN0001161339
BOLT

M10x30 60 Nm
LOCTITE 243 Blue

It Explains Where The Part Is Assembled On.
Catalogue Reference

Name

Size & Torque

Additional Useful Information

A A

AAA

Besides the reference, the bolts, nuts, spacers and bushes may be marked with a color spot next to them. The ones
with the same color spot have the same information and thus the same tightening torque. If no color spot is found
means that the part is a single unit. The colors are common in one single page and are not related between different
pages.

Spot colors: @ o000

3 AudiRS 3LMS SEQ. ¥ Audi Sport GU[D

customer racing



TIGHTENING TORQUE
ENGINE FLY WHEEL AND CLUTCH FRs 3cms

OIL FILTER CAP 25 Nm
Moisten the o-ring with
some oil before assembly.

_N__90665001

M10x1x22,5

60Nm 90° <
5F6141015
DOUBLE DISC CERAMIC
CLUTCH

/ SF6105166C
./
'/ VN0001157839
M8x55 25 Nm
/ LOCTITE 243 blue
L]
4 Audi RS 3 LMS SEQ. i
¥ Audi Sport CIID

customer racing



TIGHTENING TORQUE

ENGINE & GEARBOX SUPPORTS

BRs 3 oMms

TO BODY SHELL
VN0001161339
M10x30 80 Nm
LOCTITE 243 Blue

TO GEARBOX
VN0001161039
M10x20 80 Nm
LOCTITE 243 Blue

_N__90781301
M10x65 60 Nm

&/

%
@@=
=
A

I

VN0001161739
M10x50 60 Nm

LOCTITE 243 Blue —4m8 ——

- LOCTITE 243 Blue

— LOCTITE 243 Blue

o
S s

VNO0001172039
M12x150x35 80 Nm

VN0001161339
M10x30 80 Nm

&

i + B

& @

T Le VN0001157039
B M8x20 40 Nm
Hoaf LOCTITE 243 Blue
s 1

5

Audi RS 3 LMS SEQ.

¥ Audi Sport CIID

customer racing



TIGHTENING TORQUE
TURBOCHARGER s 3oms

TO REPLACE THE TURBOCHARGER
USE ALWAYS:
NEW EXHAUST GASKET

NEW NUTS
NEW EXHAUST CLAMP

_N__91130801
NUTM8 25Nm
Cu grease

_06L253039
GASKET

6 Audi RS 3 LMS SEQ.

A Audi Sport m

customer racing



TIGHTENING TORQUE
ALTERNATOR BRs 3LMms

The alternator pulley

for the sequential / o AR A e I
version is a fixed type. Ny \ i E Vibration damper
- B TIPS NUT M8 140 Nm
5F6903119A i HEL_ 20Nm @ Tensioner for V belt
_N__91204501
x4 M8x95 23 Nm Poly-V bell puley to alternator

M10 65 Nm

_N__91045502

‘ e Méx65 23 Nm

_N__91026802

% M8x20 23 Nm

_N_10746301 o R < R
MEx60 23 Nm LA

_06L903137A
POLY-V-BELT 21,36X1132MM _

7 Audi RS 3 LMS SEQ. A Audi Sport CIH)

customer racing



TIGHTENING TORQUE
FUEL SYSTEM B 5 sroges

VN0003130115
NUT M4 By Hand

VNO0003130115
NUT M4 By Hand

8JR201442

REPLACE AFTER 8000 KM == 5'%
CLAMPING RING

8JR201444 OR ONCE PER SEASON
FUEL PUMP

8JR971316
FUEL PUMP WIRING SET
6 Nm
8JR201067
DECOUPLING
s THERE IS ONLY
o ONE POSITION

_—

VNO0003130115
NUT M4 By Hand

8 Audi RS 3 LMS SEQ. A Audi Sport G[BD

customer racing



TIGHTENING TORQUE
FUEL SYSTEM

ES SLMS

VN0001149016
M5x20 5 Nm

_N__10653601
M6x20 10 Nm

VN0003090325
NUT M5 3 Nm

_N__02300214
NUT M6 10 Nm

VN0005130410
FUEL SAFETY COUPLING - FEMALE -
FIA HOMOLOGATED

ﬁ V8PS201753

FIA TANK VENTILATION VALVE
35 Nm

VN0001148816
M5x16 5 Nm

ROLL OVER
VALVE

VENT VALVE
PRESSURE
VALVE

_N__0221544
NUT M5

9 Audi RS 3 LMS SEQ.

¥ Audi Sport CIID

customer racing



TIGHTENING TORQUE
INTERMEDIATE AXLE FRs 3cms

VN0001157239
M8x25 35 Nm

VN0O001161039
M10x20 35 Nm
LOCTITE 243 blue

_N_019 5024
M8x25 25 Nm
LOCTITE 243 blue

10  Audi RS 3 LMS SEQ. ¥ Audi Sport CIID

customer racing



TIGHTENING TORQUE
DRIVE SHAFT Rs 3 cms

_1K0407357D
DRIVESHAFT SPACER

VN0002150700
PRESSED WASHER

@105 - o ®

_N__90991102 &Y a
M10x52 80 Nm .&, @
LOCTITE 243 Blue

USE COPPER GREASE

_3Q0407271F
DRIVESHAFT (LH & RH)

WARNING

DRIVE SHAFT CAMBER USE RANGE:

> _WHT005437 MIN. CAMBER: 3,8°

a " DOUBLE HEX. HEAD BOLT MAX. CAMBER: 5,8°
\“‘ | M16X1.5X70

z/ 240 Nm + 90°
USE ONLY ONCE. REPLACE BY A NEW
ONE WHEN DISASSEMBLED.

11 Audi RS 3 LMS SEQ. ¥ Audi Sport CIm

customer racing



TIGHTENING TORQUE
GEAR SHIFT ACTUATOR FRs 3cms

VN0001151639 VN0001153339
M5x15 By Hand M6x30 By Hand
LOCTITE 243 Blue

VN0001161239
M10x25 40 Nm

VNO0001153239
M6x25 By Hand

@

5F6911094 Xﬂﬁi’é’g 153:22(1 J
SPECIAL BOLT

M12x35 80 Nm

5F6911094A
FASTENING ELEMENT

By Hand
LOCTITE 270 Green

VN0001157039
M8x20 25 Nm

— _N__91106901 LOCTITE 243 Blue
M12x35 80 Nm

12 Audi RS 3 LMS SEQ.

¥ Audi Sport CIID

customer racing



TIGHTENING TORQUE
FRONT UPRIGHT AND HUB FRs 3cms

5F6407137
M12x84 80 Nm

_N__01474011
LOCTITE 243 Blue

] _WHT000237 VN0001157439
’ __-/ i 80 Nm M8x35 25 Nm
S - LOCTITE 243 Blue
= > i
VN0001161239 __ = i :
M10x25 60 Nm  {] . ; REMARK:
3 . FIRST TIGHTEN THE CENTRAL BOLT.
VNO0003090825 ! TIGHTEN THE 3 BOLTS TWICE.

SELF-LOCKING NUT 80 Nm

VN0001903239

REMARK:
VN0002150300
LOCTITE 243 Blue WHEELNUT TORQUE IS 100 Nm
5F6615421

M12x75 160 Nm

VN0003221200
M12x7580Nm . ..®
<
) _ VN0001368416 BOLT
a’ ', VN0002150300 WASHER
LOCTITE 243 Blue

VN0001153216 —

M6x25
13 Audi RS 3 LMS SEQ. )

¥ Audi Sport CIID

customer racing



TIGHTENING TORQUE
FRONT BRAKE

ES SLMS

5F6615300 (x12)
BOLT
4UNF-6 L=27mm

05F860347
MICA HEAT PROTECTION

856615301 - LH
856615302 - RH
FRONT BRAKE DISC 378x34

856615329
DISC BELL

5F6615105A - LH
5F6615106A - RH
BRAKE CALIPER

WASHER
o 1/4" -12,5x6,5x0,9-
@ @
s ® 5F6615260A (x12)
NUT
@ 1/4" UNF. 15 Nm
@
@

ONLY FOR RADICAL BRAKE CALIPERS.

5F6615279 (x12)

14 Audi RS 3 LMS SEQ.

A Audi Sport (IID

customer racing



TIGHTENING TORQUE
FRONT SUBFRAME FRs 3cms

5F6423131
M8x62 20 Nm
LOCTITE 243 Blue
V3FL411303 ANTIROLL BAR @ 22x3
PUT A DROP OF V3FL411303A ANTIROLL BAR @ 22x2 (OPTION)
GREASE ON THE
FRICTION ZONE
Unibal always screwed at
CHECK THAT THE ANTI maximum to avoid interferences
ESTLELRB/frFI?(;ﬁTFEFﬁE‘G with the driveshatt.
e
\‘\\:{* - Female unibal always on the
5F6411175A Q X% wishbone side.
SPECIAL BRACKET FOR r
SEQUENTIAL GBX
VNO0001161639
5 5 o ! M10x150x45 40 Nm
A R _' ' _N__1010640
®/ ! , : ) e SELF-LOCKING M12x1,5
() i ﬁ
i ol
° i :
. ﬁ _N__10640501
i 43 M12x1,5x80 120 Nm
_N__10690201 i e
M8x70 40 Nm 4 :
l _N__10785401
M12x1,5x95 140 Nm
°
15 Audi RS 3 LMS SEQ. A
¥ Audi Sport CIID

customer racing



TIGHTENING TORQUE
FRONT WISHBONE

ES SLMS

VNO0005401616
i FEMALE BALL JOINT @16X1,50

VN0002052639
VN0002056339

Tighten to 130 Nm +
needed rotation to set

ADJUST WASHER 12.9 @16 | Thickness = 0,2 mm.
ADJUST WASHER 12.9 @16 | Thickness = 0,3 mm.

the ball joint in its
working position.

5F6407371
SPHERICAL BEARING SPACER

VNO0001905939
ALLEN BOLT
M6x15
LOCTITE 243 Blue

VN0001021039
ALLEN BOLT ADJUSTER
M10x80

V3FL407319
ARM CAMBER PLATE LEFT ASSY.

VN0003221000
AVIATION NUT
M10 70 Nm
LOCTITE 243 Blue

_WHT000785A
FLAT HEXAG. NUT M12X1.5 80 Nm
LOCTITE 243 Blue

VN0003221200
AVIATION NUT M12 100 Nm

16 Audi RS 3 LMS SEQ.

A Audi Sport (HD

customer racing



TIGHTENING TORQUE
FRONT SHOCK ABSORBER

ES SLMS

—
_.-"I "T.I\ -
Lot
5F6412099
BILSTEIN BUSHING
[
ghﬁ, @h{h—\
5F6413031B -
FRONT BILSTEIN SHOCK
ABSORBER S
\‘._____..4
g

VN0003221000
AVIATION NUT M10 40 Nm

VN0001161739
BOLT 12,9 M10x50 60 Nm

¥ 7”.‘.
-

— ~

”~ N

o G

—

VN0020018100
HELPER 60-60-002

V2MT411113C
SPRING SPACER @ 80mm.

SPRING OPTIONS

SPRING 160-60-70  VN0020065300
SPRING 160-60-80 VN0020065400

SPRING 170-60-90 8S6411105

SPRING 170-60-100 8S6411105A
SPRING 170-60-110 8S6411105B
SPRING 170-60-120 8S6411105C

17 Audi RS 3 LMS SEQ.

A Audi Sport (IID

customer racing



TIGHTENING TORQUE
STEERING RACK & COLUMN FRs 3cms

I BOLT

_N__90799102
M18X1.5X18 50 Nm g

_N__ 90915802
By Hand

HEAT SHIELD
5Q1423981D

o

STEERING RACK STOPPER
5F6422233A

e \ _N_10552402
P T M12x1,5x75 120 Nm

_N__01033513 @ T
N MB8x35 25 Nm .

_N__0195307
M8X25 25 Nm

5F6419811 -

= \
STEERING ROD UNIBAL ASSY. W VSFL422807A
& Gﬁ _N__10218708 STEERING ROD

NUT LOCTITE 243 Blue
M14x1,5

18 Audi RS 3 LMS SEQ. ¥ Audi Sport CIm

customer racing



TIGHTENING TORQUE

REAR UPRIGHT Rs 3 coms
VN0001162139 .
M10x70 60 Nm &
'x ~o VN0002252010 ?\/4'11202151%%1930 N
~. 9 —_ WASHER @10 XLoX m
VN0002341500 . O] LOCTITE 243 Blue
S H : Wide side of spacer
o : ! rests against upright

|

i surface.

Lo SPACER

1

i ?a. VN000116609

P M12x65 80 Nm

P

Lo

i ; _N__ 1474011

L. BOLT 15 Nm

1T501611E P LOCTITE 243 Blue
WHEEL HUB \ P
V4PL601137 V3FL505279A
WHEEL STUDS 130 Nm STUD 60 Nm

LOCTITE 270 Green
PUNCHED BEHIND

_WHTO000229A
M16X1,5X70 240 Nm + 90°

Place before installing
wheel hub with the
window for the speed
sensor properly.

LOCTITE 270 Green

VN0003221200
K-NUT M12 40 Nm

VN0003226800
V3FL505270B

STUD & NUT 100 Nm
LOCTITE 270 Green

19 Audi RS 3 LMS SEQ.

¥ Audi Sport (HD

customer racing



TIGHTENING TORQUE

REAR SHOCK ABSORBER BRs 3 oms
VN0001161639 VN0003221000
M10X150X45 M10X150 60 Nm
_N__90648402
VN0002150700 HEXAGON HEAD
PRESSED TYPE WASHER M10X35 60 Nm

V3FL505179
SPACER

VN0003221000
M10X150 40 Nm

VN0020018100
HELPER 60-60-002

V2MT411113C
SPRING SPACER @ 80mm.

SPRING OPTIONS

SPRING 160-60-70  VN0020065300
SPRING 160-60-80  VN0020065400

SPRING 170-60-90 8S6411105

SPRING 170-60-100 8S6411105A
SPRING 170-60-110 8S6411105B
SPRING 170-60-120 8S6411105C

20 Audi RS 3 LMS SEQ.

¥ Audi Sport (HD

customer racing



TIGHTENING TORQUE
REAR SUBFRAME FRs 3cms

_N__10552402
_N__10769501 M12X1,5x75 120 Nm

M12x1,5x80 80 Nm LOCTITE 243 Blue

@8-

<
‘D w b N__10106402
g N

@ g i & A » MI2x1,5 120 Nm
e/ " "\ LOCTITE 243 Blue

;
_N__ 90648402 /i
M10X35 80 Nm !

i

VN0001166039
(1) VN0001164039 M12X65 140 Nm
M12x1,5x90 120 Nm

LOCTITE 243 Blue

(2) _WHT001761
ECCENTRIC BOLT
M12X1,5X90 120 Nm

V3FL511407 ANTIROLL BAR @ 22x3
V3FL511407A ANTIROLL BAR @ 22x4 (OPTION)

DISTANCE BETWEEN PUT A DROP OF
CENTERS = 114 mm. # VN0001161539 GREASE ON THE
M10X40 40 Nm FRICTION ZONE

VN0001157739

M8X50 20 Nm CHECK THAT THE ANTI

LOCTITE 243 Blue ROLL BAR IS FREE

AFTER TIGHTENING
21 Audi RS 3 LMS SEQ. )
¥ Audi Sport (IID

customer racing



TIGHTENING TORQUE
PEDAL BOX

BRs 3 oMms

CLUTCH MASTER CYLINDER
ESFﬁé]MéSA 15.9 MM

t's the origninal
V3FL6145165A with
push rod 10mm shorter

PRODUCTION SET UP
DISTANCE: 36 mm.

TIGHTEN BY HAND,

OUTLET HYDRAULIC
THREAT 3/8" 24 UNF

BRAKE MASTER CYLINDER OPTIONS

V3FLE14165A
V3FLe14165B
V3FL614165C
V3FL614165D
V3FL614165E
V3FL614165F
V3FL614165G

STANDARD
MECHANICAL
STOPPER LENGTH:

| Keep clean the axle thread
and the unibal and do not

lubricate.

ALL PUSH ROD THREADS ARE: 5/16" UNF

PRODUCTION SET Up | [Htack
DISTANCE:

Colour Identification for Push Type Cylinders
IColour Bore Size
Black/Orange D] 14mm (0.5517)
BlackiRed [ ] 15mm (0.590")
] 15.9mm (0.6257) 5/8"
35’2 mm. BlackYellow || 16.8mm (0.6617)
Blue | 17.8mm (0.707)
Green | 19 1mm (0.757) 3i4”
PRODUCTION SET UP | [orange [ 120.mm (0.8127) 13116
DISTANCE: 34 mm. Red [ 22 2mm (0.8757) 718"
White — 23 8mm (0.9377) 1516
ellow [25.4mm (1.007)

MASTER CYLINDER 15.9 MM

MASTER CYLINDER 16.8 MM

MASTER CYLINDER 17.8 MM

MASTER CYLINDER 19.1 MM front production
MASTER CYLINDER 20.6 MM

MASTER CYLINDER 22.2 MM rear production
MASTER CYLINDER 23.8 MM

11,8 mm.

The gap on both sides must
be at least 2,5 mm to allow
the system to work properly.

22 Audi RS 3 LMS SEQ.

¥ Audi Sport CIID

customer racing



TIGHTENING TORQUE
FRONT & REAR END FRs 3cms

_N__91196402 _N__0195307
HEX. HEAD BOLT HEX. HEAD BOLT
M10x35 60 Nm M8x25 25 Nm

23 Audi RS 3 LMS SEQ. ¥ Audi Sport CIID

customer racing



TIGHTENING TORQUE
BACKET SEAT

ﬁs SLMS

VNO0001157938 — M8x60 25 Nm-— For 30 mm. Spacer
VN0001158538 — M8x90 25 Nm- For 60 mm. Spacer

VN0001158738 — M8x110 25 Nm— For 80 mm. Spacer _ gﬁ
VN0002150800 — g;
WASHER i
28 T

VN0001172039
ALLEN HEAD BOLT
M12x1,5x35 80Nm

VN0002001139
WASHER
@12

856881494 — 30 mm
8S6881494A — 60 mm
8568814948 — 80 mm

24 Audi RS 3 LMS SEQ.

& Audi Sport €11)

customer racing



TIGHTENING TORQUE
BALLAST FIXATION FRs 3cms

In the event that any car needs to add some extra weight, there are different shapes and sizes to be combined between them. They
are detailed here below:

856861721 8S6861721A
1 KG BALLAST 3 KG BALLAST

856861721B — 5 KG
856861721C — 10 KG
856861721D— 20 KG

5, 10 & 20 KG BALLAST

To fix the different ballasts on the car, it can be done either in the co-driver and driver position and in front or rear location. In order to
make a safe assembly, M8 bolts with a minimum of 12 mm thread depth is recommended.

Rear Location Driver Position

25 Audi RS 3 LMS SEQ. A Audi Sport (IID

customer racing



TIGHTENING TORQUE
SADEV GEARBOX - FRs 3cms

Horizontal position of the support on the gearbox

OIL LEVEL
Without radiator: 1,5 L

With Radiator: 1,7 L

NOTES

There are two drain plugs (A & B). To drain the
gearbox oil both drain plugs must be
disassembled and cleaned.

Drain plug A has a magnet on it. It must be
cleaned. Tightening torque: 50 Nm.

Drain plug B has a suction screen. It must be
cleaned. Tightening torque: 50 Nm.

We strongly recommend to clean the threads
after removing the drain plugs as some dirt and
metal particles may be stuck in between.

26 Audi RS 3 LMS SEQ. A Audi Sport CM)

customer racing



TIGHTENING TORQUE
SADEV GEARBOX -

ES SLMS

VNO0001159639 ‘T
ALLEN HEAD BOLT
M8x15 25 Nm
LOCTITE 243 Blue

VN0001153539
ALLEN HEAD BOLT
M6x40 By Hand
LOCTITE 243 Blue

VNO0001161539

M10x40 60 Nm

./‘@,ﬂ VN0001153039

ALLEN HEAD BOLT
M6x20 By Hand
LOCTITE 243 Blue

_N__10098811

HEX. FLANGED HEAD BOLT
M6x16 By Hand

5F6311137

ALLEN HEAD BOLT
M8x30 25 Nm
LOCTITE 243 Blue

ALLEN HEAD BOLT

LOCTITE 243 Blue

VNO0003090310
SELF-LOCKING NUT
M5

VN0001149239
ALLEN HEAD BOLT
M5x25 By Hand

27 Audi RS 3 LMS SEQ.

€11)

A Audi Sport
customer racing



TIGHTENING TORQUE
SADEV GEARBOX - Casings

5F6311137
ALLEN HEAD BOLT
M8x30 25 Nm

LOCTITE 243 Blue

To adjust the differential
preload of the gearbox there
is a 8 mm allen head bolt
which has a range of 20
“clicks”.

To adjust to the desired
preload:

Lock the right driveshaft
and the propshaft

Turn counter-clockwise
to increase

5F6311234D o +  Turn clockwise to
ALLEN HEAD BOLT decrease

M8x16 25Nm __ @V

LOCTITE 243 Blue

/Y

28 Audi RS 3 LMS SEQ.

¥ Audi Sport CIID

customer racing



TIGHTENING TORQUE
SADEV GEARBOX — Casings FRs 3cms

5F6311137
ALLEN HEAD BOLT
M8x30 25 Nm
VN0001161539 LOCTITE 270 Green
ALLEN HEAD BOLT
M10x40 60 Nm

LOCTITE 243 Blue
(@2 5F6311234
X~ ~ ALLEN HEAD BOLT
'._"l:.:x

_____ M8x20 25 Nm

LOCTITE 243 Blui
[ ]

29 Audi RS 3 LMS SEQ.

& Audi Sport €11)

customer racing



TIGHTENING TORQUE
SADEV GEARBOX - FRs 3cms

VN0001165539
ALLEN HEAD BOLT
M12x40 80 Nm
5F6311234
ALLEN HEAD BOLT
M8x20 25 Nm
LOCTITE 270 Green
e
~ { g
-
@ &
SPis
: .- ,,_7--"'7_)/_7 S ‘—’__,
E) - o=
UL VN0002001120
WASHER
¥ @12
VN0001161539
M10x4 N
0x40 60 Nm M12x60 80 Nm
30  AudiRS 3 LMS SEQ. <
A Audi Sport m

customer racing



TIGHTENING TORQUE

SADEV GEARBOX -

E?S SLLMS

Once the gearbox is serviced, we strongly
recommend to check that the gear position sensor

| Gear |voltage (mV

R

o Ok~ WNBRE Z

572
1100
1630
2160
2700
3230
3765
4300

works in the appropriate range as the gearbox
needs the voltage values to work properly.

There is a channel for this purpose in the AIM MXG
Display as shown in the picture on the left.

The values for each gear must be the ones in the
table at the bottom left side of the page.

Take into account that the values may differ £0.10
mV.

INFO LINE

There are two types of available connectors for the barrel sensor. They are listed here
below. Please make sure that you use the proper connector for your wiring harness.

DEUTSCH SOURIAU
CONNECTOR CONNECTOR

\ 5F6919093 — SOURIAU CONNECTOR
—— 5F6919093A — MILITARY CONNECTOR
BARREL POSITION SENSOR

31

Audi RS 3 LMS SEQ.

¥ Audi Sport 0880

customer racing



